GCSE Mathematics

Practice Tests: Set 1B
Paper 2F (Calculator)

Time: 45 minutes

You should have: Ruler graduated in centimetres and millimetres, protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· [image: image11.emf]Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· Diagrams are NOT accurately drawn, unless otherwise indicated.

· You must show all your working out.
Information

· The total mark for this paper is 40 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1.
Write these numbers in order of size.

Start with the smallest number.
0.74        0.744        0.704        0.7        0.07
........................................................................................

(Total 1 mark)
___________________________________________________________________________

2.
Simplify      3 × g × 5 × h
...........................................

 (Total 1 mark)
___________________________________________________________________________

3.
The tally chart shows information about the numbers of text messages sent by some students last week.

	Name of student
	Tally
	Frequency

	Anna
	[image: image1.emf]
	24

	Bhavini
	[image: image2.emf]
	12

	Cassie
	[image: image3.emf]
	

	David
	[image: image4.emf]
	


(i)
Complete the frequency column.

The pictogram shows the numbers of text messages sent by Anna and Cassie.

[image: image5.emf]
(ii)
Complete the pictogram and the key.
(Total 5 marks)
___________________________________________________________________________

4.
Michael writes down 4 different factors of 60
He adds the 4 factors together.
He gets a number greater than 20 but less than 35


What 4 factors could Michael have written down?
...............   ...............   ...............   ...............
(Total 3 marks)

___________________________________________________________________________

5. 
Write down the name of each of these two 3-D shapes.

[image: image6.emf]
    (i) ................................................. 

  (ii) ..................................................

(Total 2 marks)

___________________________________________________________________________

6.
George and Harry work in a factory.

They use this rule to calculate their total pay in pounds.

Total pay = 8 × number of hours worked + bonus

George worked 30 hours.

He was paid a bonus of £20

(a) 
Work out George’s total pay.

£ ..............................................................

(2)

Harry worked 34 hours.

His total pay was £300

(b) 
Work out the bonus that Harry was paid.

£ ..............................................................

(3)

(Total for Question 7 is 5 marks)
___________________________________________________________________________

7.
John cleans carpets of different areas.

He uses this graph to work out the cost of cleaning a carpet.

[image: image7.emf]
A carpet has an area of 30 m2.

(a) 
Use the graph to find the cost of cleaning this carpet.

£ ..................................

(1)

It costs £150 to clean another carpet.

(b) 
Use the graph to find the area of this carpet.

............................... m2
(1)

A rectangular carpet has a length of 8.6 m.

It has a width of 5 m.

(c) 
Work out the cost of cleaning this carpet.

£ ..................................

(3)

 (Total 5 marks)

___________________________________________________________________________

8.
Priyesh has 12 square paving stones.

He will use all the stones to make a patio that is a rectangle.

(a) 
Draw a diagram to show how Priyesh can use these stones to make a patio that is a rectangle.

(2)

The diagram shows a pond with a path around it.
[image: image8.emf]
(b)
(i) Work out the perimeter of the pond.

.............................................................. m


(ii) Work out the area of the path.

..............................................................

(3)

(Total 5 marks)
___________________________________________________________________________

9.
Eric travels from the UK to India every year.

In 2010, the exchange rate was £1 = 67.1 rupees.

In 2012, the exchange rate was £1 = 82.5 rupees.

In 2010 Eric changed £600 into rupees.

How many pounds (£) did Eric have to change to rupees in 2012 to get the same number of rupees as he did in 2010?
£ .......................

(Total 3 marks)

___________________________________________________________________________
10.
The scatter graph shows some information about 10 cars.

It shows the time, in seconds, it takes each car to go from 0 mph to 60 mph.

For each car, it also shows the maximum speed, in mph.
[image: image9.emf] 
(a) 
What type of correlation does this scatter graph show?

..........................................

(1)

The time a car takes to go from 0 mph to 60 mph is 11 seconds.

(b) 
Estimate the maximum speed for this car.

................................. mph

(2)
(Total 3 marks)
___________________________________________________________________________

11.
Solve
  x + 2y = 3


x – y = 6

x = ...................................

y = ...................................

(Total 3 marks)

___________________________________________________________________________
12.
Colin, Dave and Emma share some money.
Colin gets 
[image: image10.wmf]3

10

 of the money.

Emma and Dave share the rest of the money in the ratio 3 : 2.

What is Dave’s share of the money?

..........................................

(Total 4 marks)
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